1. M2 By, Q9750 Ayo]2 15t L.
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T~~-31 4cm-
15¢cm
)

>
> HEhl 628 cm?

({2 5) =31.4+3.14 + 2 = 5(cm)
(BYo]) = (5x5x3.14)x 2+ 31.4x 15
=157 + 471 = 628( cm?)




Q7150 AAEE B, 971590 Aylo|S T} Q.

(3 W] Hol) = 3x 3 x 3.14 = 28.26(cm?)
(F4o]) =3x2x3.14 x 8 = 150.72(cm?)
(Aol = (3 2 Wol)x2+ (F4Hol)

= 98.26 x 2 + 150.72 = 207.24(cm?)




[ 2
[> HE T 226.08cm?

(YH2] Yol)= 3 x 3 x 3.14 = 28.26(cm?)

™
E v
(W] Hol)= (3 x2x3.14) x 9 = 169.56(cm?)
(B4l o])= 28.26 x 2 + 169.56 = 226.08(cm?)




4.

Aylo]7k 433.32cm? o] L WH ] 5ol 6em gl U7| 5]
Holt gnkelx] otA 2.

= 2

> HE D 376.8cm?

47159 Fulol=

433.32 - (3 x 3 x 3.14) x 2 = 376.8( cm?)




5. EHO moFo] tht ZAl #0]7} 15em ¢ 97152 ¥l HWolE

>
> HEHD 282.6cm?

(FHO] Ylo])=3x2x3.14 x 15 = 282.6(cm?)




(8% 8 x 3.14) x 2 + (16 x 3.14 x 6)
=401.92 + 301.44
= 703.36( cm?)




7159 2HolE TS,

12cm

e \

10cm
/

N

>
> HE . 1657.92cm?

12X 12%x3.14%x2+12%x2x3.14 x 10
= 904.32 + 753.6 = 1657.92(01112)




g o] mefo] thEt ZAl o7k 14em Q1 Y7159 AW HWolE

>
> ®EHD 439.6.cm?

(FHE] Hlo])=5x2x3.14 x 14 = 439.6(cm?)
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10. o 5 97150 509 245 FohAlS.

(9% 4759 1) =12x12x3.14x6

= 2712.96( cm?)
(LEZ U759 Hu]) =7x7x3.14%x15
= 2307.9( cm?)

wteta] T 47]5 9] Koo =
2712.96 — 2307.9 = 405.06(cm?)




11. % 27159 339 245 T840,

6cm

* \

\
\
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o cm 10cm
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[ 2
> ®ehl 125.6cm3

~&B

(9% 9175 9] 2x)
=5Xx5x314%x2= 157(cm3)
02z 91750 i)

= 3x3x3.14 x 10 = 282.6( cm?)
= 97)59] Bujo] e

282.6 — 157 = 125.6(cm3)

—~




12. % 927159 #3925 T840,

(9% Y7159 1) =3x3x3.14x2

= 56.52(cm?)
(LEZ U759 H1]) =5x5x3.14%x4
= 314(cm?®)

kA £ 97159 H ool 2=
314 - 56.52 = 257.48( cm?)




